0

P B

V-3
[ =]

=

(HEF— LB - "EEIN=7)

NkL>=7

20184 12A 16H(H) BRi54 : RIW R IR h 5 H Bk 15 K (&)

F — HE BREY 10 B 19 4 - #THEZ 12 B 5 4 - FRERR 1050 46 &
F—LB 1 2 4 5 7 8 9 10 1 &5t
R xR 0 1 1 0 3
BREI 0 1 0 3 3 0 x 7
i & B B - 8 - 8 = B (BREFBGE B2 8
HYER [EEGEEREND| REBGEERER) /MIGEREID| SEHGERER) | £, . B | AHEEER)
NyT)— |(&R) HBFRBEE).HKEA) ., FTHREQ) HF HE
(B &) |#¥ HBEME@G.BE0).REAQ2), BEE0

x B f = B 4§ = B
£ T |(%&m) #BA
(E &) |(#30) BH BA, S, KiE

£ = BHE R 13 B 18 & o 15 B 13 & - FiERE] 1B5@ 55 &
F—L4% 1 2 3 4 5 7 8 9 10 11 &t
BREII 0 2 0 2 1 7
R R 2 0 0 0 1 5 X 8
i E B OE - B - £ = B (B&RR) BuE i &
HYEDR |BHREGEER) | EBEREN)| XEGEER) |EHEREI)| BE. . 2B | AHEEER)
NyFU— [(£HR) BF HBK4).£230,1/3)., . £MH(2/3) BFEE0

(K &) |@&®) #BFADG)..HAQ) BESA

x B # = E 4 = B
E T |(&® S B E@A. 28
(E &) |(#®%)




